e BEEES

_ (Z%) st 22 Mounted 17 Achromatic Lens kit @] 2171

F 9

(B2

+ 4 |EA

A Y| EROREd = AHaAE 9

Aeen (27‘?55 TIeAY EH)

30“Z Analog HOE Screen 7|&A|¢

1. 2 Fv =52 dAEEH= A A 243 A (A - SETEFER=
MBI ZAE] Q) &3] Fsty] 3l B =5 Tullstaxt &

2. EEOPERN= AMu|2=AH &9 A= S2T9NAE AEA 75 g
SEIJPIZH = MH|2AY 753 7Y 257 ZAd 2 FE3 Ad7ets
ntEstal, SEIPTH = AH2AEE At T4 2 9lx, FHF71Y
T ER2OPFTH = A7) Y-S 3 E2OF 7|t EEE=
Z19AY A 1z 2 AJH 2SS T3 IEEH 39Ul #Ed5 ¥
AZ3 g3} o]2+= Az}t 7HEE sk AFY Y

3. TEIHITRI= Au|2AlE oA 7|AA LS A Fg LA}

- B/ nS /w3 A 3E VY9 ERaOMEZAH = AN g2EF o] AR
A 7Rl AFEE = B A

- Mounted 1”7 Achromatic Lens Kit, 1”7 N-BK7 Plano Convex and
Bi-Convex Lens Kite= 2% A2 7|22 Y3l dgolA WS HH3Y
o= THE7] 8l AbEste Fs &A= ZH A wet FEA <
A FFE FOoE AHTFY A== HFPo] Q3

- ND FILTERE #lolA W meE ZHAIA AZTE 349 fHolAE
st AT W, S XA F7] Hall AEste FEAAY.

- 2”7 Broadband Dielectric MIRROR, 2” Percision Kinematic Mirror
Mount= LENSE &3l 451 PPoz W3 oA s HAAA




© o N O U W N =]

— =
— O

N N DN = = = = b = e
N — O O 00 J O O » W N

FAZE U=t AMEEH= FEAAY.
MOUNT, SCREW KITE 33ZstAS #ste o] Eo nAHA 7] 7] 3 43t
A7

Handi-Pads+ #sAAE HL3E A%
SM1-Mounted Frosted Glasst= 3 SHH| o] E QoA FSHAES L 2A Ao

AAAZ17] 917 FeaAs).

Magnetic Beam Height Measurement Tool, Bracket for Magnetic Beam
Height Rulers, Magnetic Measuring Tapetw 338 H o] &% oA 34
Azkel AglE SASAY HolA e wolE SAHS= *‘45”\1}0‘

Optical Post, Post Holder+= 33 H|o] &S| A BFStaAAE AT =
F etk
A B ARG

. Mounted @1" Achromatic Lens Kit, AR Coating: 400 - 700 nm

. @1" N-BK7 Plano-Convex and Bi-Convex Lens Kit, 350-700 nm, 28 pc
. @2" N-BK7 Plano-Convex Lens Kit, AR Coating: 350-700 nm, 10 pc

. Box with 10 Absorptive @25 mm ND Filters, SM1, 400 - 650 nm

. Box with 10 Absorptive @2" ND Filters, SM2-Mounted, 400 - 650 nm

@2" Broadband Dielectric Mirror, 400 - 750 nm, 10 Pack

. @2" Precision Kinematic Mirror Mount, 3 Adjusters

. Handi-Pads 4" x 8" (4" x 4" Folded), 100 Wipes per Package

. Alignment Plate for @1" Fixed Optic Mounts

. @1" SM1-Mounted Frosted Glass Alignment Disk w/@1 mm Hole
. @2" SM2-Mounted Frosted Glass Alignment Disk w/@2 mm Hole
. M4 Setscrew and Hardware Kit

. M6 Cap Screw and Hardware Kit

. M6 Setscrew and Hardware Kit

. 12" (305 mm) Magnetic Beam Height Measurement Tool

. 90° Mounting Bracket for Magnetic Beam Height Rulers

. Magnetic Measuring Tape, 1 m Long

. ©12.7 mm Optical Post, SS, M6 Tap, L = 50 mm, 5 Pack

. ©12.7 mm Optical Post, SS, M6 Tap, L
. ©12.7 mm Optical Post, SS, M6 Tap, L = 100 mm, 5 Pack

. ©12.7 mm Post Holder, Hex-Locking Thumbscrew, L=50 mm, 5 Pack
. ©12.7 mm Post Holder, Hex-Locking Thumbscrew, L=75 mm, 5 Pack

75 mm, 5 Pack




TE 4 ey TF B 31
1 LSB08-A ea 1
2 LSB03-A ea 1
3 LSCO1-A ea 1
4 NEKO1 ea 1
5 NEK03 ea 1
6 BB2-E02-10 ea 2
7 KS2 ea 20
8 CP-100 ea 2
9 LMR1AP ea 4
10 DG10-1500-H1-MD ea 4
11 DG20-1500-H2-MD ea 4
12 HW-KIT3/M ea 1
13 HW-KIT2/M €ea 1
14 HW-KIT4/M ea 1
15 BHM2 ea 4
16 BHMA1 ea 4
17 MFT1 ea 3
18 TR50/M-P5 ea 4
19 TR75/M-P5 ea 4
20 TR100/M-P5 ea 4
21 PH50/M-P5 ea 4
22 PH75/M-P5 ea 4

A Y9
1 74

7F. Mounted 1” Achromatic Lens Kit

. Plano-Convex and Bi-Convex Lens Kit

t}. ND FILTER

2}. Broadband Dielectric Mirror

u}. Precision Kinematic Mirror Mount

v}, Handi-Pads

Ab. Alignment Plate

o}. Alignment Disk

A}, Setscrew Kit

%}, Magnetic Beam Height Measurement Tool

7}. Bracket for Magnetic Beam Height Rulers

E}. Magnetic Measuring Tape

3}, Optical Post

Post Holder




2. 4% 4 4

Mounted @1" Achromatic Lens Kit, AR Coating: 400 - 700 nm

@1" N-BK7 Plano-Convex and Bi-Convex Lens Kit, 350-700 nm, 28 pc
@2" N-BK7 Plano-Convex Lens Kit, AR Coating: 350-700 nm, 10 pc
Box with 10 Absorptive @25 mm ND Filters, SM1, 400 - 650 nm
Box with 10 Absorptive @2" ND Filters, SM2-Mounted, 400 - 650 nm
@2" Broadband Dielectric Mirror, 400 - 750 nm, 10 Pack

@?2" Precision Kinematic Mirror Mount, 3 Adjusters

Handi-Pads 4" x 8" (4" x 4" Folded), 100 Wipes per Package
Alignment Plate for @1" Fixed Optic Mounts

. @1" SM1-Mounted Frosted Glass Alignment Disk w/@1 mm Hole

. @2" SM2-Mounted Frosted Glass Alignment Disk w/@2 mm Hole

© X° N

._.,_\
— O

12. M4 Setscrew and Hardware Kit

13. M6 Cap Screw and Hardware Kit

14. M6 Setscrew and Hardware Kit

15. 12" (305 mm) Magnetic Beam Height Measurement Tool

16. 90° Mounting Bracket for Magnetic Beam Height Rulers

17. Magnetic Measuring Tape, 1 m Long

18. @12.7 mm Optical Post, SS, M6 Tap, L = 50 mm, 5 Pack

19. ¥12.7 mm Optical Post, SS, M6 Tap, L = 75 mm, 5 Pack

20. @12.7 mm Optical Post, SS, M6 Tap, L = 100 mm, 5 Pack

21. ¥12.7 mm Post Holder, Hex-Locking Thumbscrew, L=50 mm, 5 Pack
22. ¥12.7 mm Post Holder, Hex-Locking Thumbscrew, L=75 mm, 5 Pack
3. 718 E

7h AXRIA AR FRA FRUE 350-37 FRIHAAE R e AdeitoldTAlE
U FE71% A 5 21 ol

o FARENZ GE 9 AL F 1
2. FARE PO\ A7 o A7 AE AT Y 054-460-9058




